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à. 1)	 Imbrb CnàíZ gmoS>dm.											           (>5  JwU)

		  	 1)	 nwT>rbn¡H$s dJ©~hþnXr H$moUVr? gH$maU CËVa {bhm.
				    a) x (x − 2) − x2        b) (x + 1)3 − x3          c) x + 3 − x2       d) x3 − 9

			   2)	 12500 Mo 9 Q>³Ho$ H$mT>m. 

	 		  3)	 3a + 2 b = 12 ¶m g‘rH$aUmMr CH$b Imbrbn¡H$s H$moUVr Zmhr? Vo emoYm. CËVamMo H$maU {bhm.

				    a) (2, 3)	 b) (4, 0)	 c) (3, 2)	 d) (− 2, 9)

goVy Aä¶mg : J{UV (^mJ - I)  - B¶ËVm Xhmdr : CËVa MmMUr 

B¶ËVm	 : Xhmdr	 EHy$U JwU : 
15

{dXçmÏ¶m©Mo  Zmd : ................................................................................	hOoar H«$. : ....................

emioMo Zmd : .........................................................................................	{XZm§H$ :  ......................
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			   4)	 lr. ‘Zmoha ¶m§Mo Xo¶ Am¶H$a 27,550 é. Agob, Va Ë¶m§Zm 2% {ejU CnH$a Am{U 1% CÀM {ejU 
CnH$a {‘iyZ EHy$U {H$Vr Am¶H$a ^amdm bmJob?

			   5)	 30 − 35  ¶m dJm©Mm dJ©‘Ü¶ H$mT>m?

				    dJ©‘Ü¶ =  
 + 

2
  = 

à. 2)	 gmoS>dm.													             (>10  JwU)

			   1)	 g‘rH$aUo gmoS>dm.  

				    3x − 2y = 7,  x −  y = 3

			   2)	 p (y) = y2 − 2y − 8 Va p (− 2)  Mr qH$‘V H$mT>m.
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			   3)	 X Am{U Y ¶m XmoZ g§Mm§‘Ü¶o n (X) = 27, n (X ∪ Y ) = 60  Am{U n (X ∩ Y) = 12, Va  
n (Y)  H$mT>m.

			   4)	 Imbrb g§»¶m Xem§e ê$nmV {bhm. (arV Amdí¶H$)

				    i)	 4

11
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			   5)	 EH$ ’$mgm ’o$H$bm Va àË¶oH$ doiog Imbrbà‘mUo àmßVm§H$ {‘iVmV Ë¶mdê$Z gmaUr nyU© H$am.
				    1,   3,   5,   6,   4,   2,   3,   2,   1,   5,   6,   3, 	 1,  

				    2,   1,   4,   2,   6,   5,   2,   3,   1,   1,  2,  	  3,   4,  

				    5,   6,   6,   4,   5,   3,   2,   1,   1,   2,   4,   6,   3,   5. 

àmßVm§H$ VmiçmÀ¶m IwUm dma§dmaVm − nojm H$‘r g§{MV dma§daVm

1 8 8

2  

3  7

4 5

5 6

6 40 

EHy$U N = 40


